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Given 2i is a zero of the function of f, find the remaining zeros:
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2.  Write the function f(x) = –2x2 – 4x + 3 in h-k form (standard form) then sketch the graph of the function.

3.  Find all the zeros for f(x) = x3 + 11x2 +17x – 21 
4.  Describe how you would change the graph of f(x) to make the graph for -3f(x + 2) – 5 .
5.  Find the inverse of f(x) = -2x + 7.
6.  Find the number of positive and negative real zeros for  
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, for  
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,  p > 0
7.  Given 
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8.  List all the possible zeros of the function f(x) = 4x4 + 3x3 – 2x + 5
9.  Solve for x over the set of complex numbers:  x2 + 36 = 0
10.  In what interval for x does a zero lie for the polynomial function f(x)?
11.  Find the interval of decrease for the function f(x) = x3 – x2 – 8x – 3 

12.  Given  f(x) = ax6 – bx4  when 
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 discuss the following given each condition.
a)  a > 0





b)  a < 0

even or odd?




Even or odd?

Symmetry?




Symmetry?
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13.  Discuss x-intercepts, y-intercepts, left and right-hand behavior of the function y = ax3 + bx2 + cx, where a, b, and c are real numbers, given the following conditions.  Then give a possible sketch of each.
a)  a > 0, c > 0





b) a > 0, c < 0
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